
Logic Puzzle Fun #1
Read the questions below and write down the answers.

Chongan had 10 pancakes. Kaia had 2 pancakes more than Chongan, and Chloe
had 3 more pancakes than Kaia. How many pancakes did Chloe have?1.

Ha-rin bought 5 candies. Françoise bought 2 fewer than Ha-rin. James
bought 4 more than Françoise. How many candies did James buy?2.

Samuel read 15 books over the summer. Asher read 4 fewer books than Samuel, 
and Rosalie read 7 more books than Asher. How many books did Rosalie read?3.

Augusto had 20 peanuts. Olivia had 10 more peanuts than Augusto. Zhang Wei
had 5 fewer peanuts than Olivia. How many peanuts did Zhang Wei have?4.

Micah is 17 years old. Tess is 3 years younger than Micah. Roye is 5 
years older than Tess. How old is Roye?5.

Name Date Answer Key

10 + 2 + 3 = 15
Chloe had 15 pancakes.

5 - 2 + 4 = 7
James bought 7 candies.

15 - 4 + 7 = 18
Rosalie read 18 books over the summer.

20 + 10 - 5 = 25
Zhang Wei has 25 peanuts.

17 - 3 + 5 = 19
Roye is 19 years old.
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